SHTEETFERBEEERAR—YKRE
NRrybR—ILEER BR

HAB : SA0TE1 181 78 (B)

=ip | TRERUKERESSFRIAEEE

[BFDE) Y N—O R
B
HoN—UX
37 38
AG BB
15:10 Evg R )—
57 15 22 74
A3 B3 3
12:00 12:00 KB S ZE
=UF=5BBC
38127 50— 19
9:20 9:20
= | R = = F
Y o L (0) < >
7 = | | = 2 5 N
4 = =2 5 v l
y! = = B 1 7
| sl B X
C
........ | b
A5 (3537) .
. 14:40 13:20~ BAZBFXiitH
16 6 FirEEETE < 5%
15 23
[&FDE) KB
| B s
46 ' 14 HKEOKR
B6
15:10 B
64 15 16 54 Ev7R—
A4 B2
13:20 10:40 ERLiva
=U=5BBC
28 25 30
10:40
= m 1= xR E
< i o | EE W
5 A = i = 5
Pae o 5 2 |
7 & B aon| T A
$§ = B Iz i 1)

B5(3iR

14:40

24



